Solve:~
_ 4x+1
) x-13=8 B Tsm et
2) =12 . X+3=52
| Make "x" the subject:-
3) 5x-15=0 ' ' |
| 10) >=b
a .
a g '
2 . ~11) ax+b=c
5)  3x-1=11 _—
o : S 12) p=—2
. . n -
6) Z+7=3 o
13) T+p=N

7 3x=2)=15



dﬁkﬂ “R" the subject

v
5y 1=3

18) B A- R

[9) _C=P-RN

+
w V5]

) N=afRSE

TUTOREALS EET - (1'2)

' ;(38) R= +\A-B (19) R="1

Change the subject to the letter _

indicated in the brackets.

22) F=F1‘j+F2,_ RSN ()
23) hy=h +F [, 3
24) t=s, TS, i {ST)
25) t©= Sp T €78, (s,)

ANSWERS (to IuLorIa sheet )

'V(f‘f)x—Zi (2) x—36 (3) xﬁ3 (4) x=6
. (5))(-’T (7) x—7 (8) x—_S (9) xX=7
(TO) x—ab (1 i)x—_-— (12) X=np+a

(13) x:a(N—p) (14). x=N—P (1 5) R=iE '

(16) R= 2\ o> (17) R= =7\ f@;ﬁ

P-C

NZ

A‘ : p
(20) Rwa(Cf*—) (1) R_EJ_ .

(22)_FT§F—F—2, (2_3_} h1=h2.—vF
(24) sl.zt'—e_:siz--‘(z 5) 5,=5 +e-t



solve:-
Z2X -4 -
. 7
1) 3

2)  S5x+10-3x =6

3) /x-4 = 5xX+9

5)  12-3x = x+6

1

TUTORIAL SHEET - (10)
(Harder Equations)

- 6)  5x-7 = 2x-7

N[>

7)

8)  3(x:5) = 2x

9) S+F =10

3.7

—



 TUTORIAL SHEET - (1)
(Harder Equations)

+5 a o o i
11) ?TZ_S)_ : 15) S"sz

X-1 = 3X - 5 3
12) -3—*-2—2‘ 16) X1 = 5ox

X W

13)° -5 =

X N

'ANSWERS (to Tutorial sheet 11.):-

(1)x=12.5 (2) x=-2 (3) x=6.5

(4) x=-4 (5)x=1.5:(68) x=0 (7)x=20 —
(8)x=15 (9 x=12 (10) x=40

(11)x=15 (12)x=-5.6 (13)x=0.2
(14)x=12.4 (15) x=4.6 (16)x=3.5
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